
  

OCTOBER 2013 P/ID 101/PXM 

Time : Three hours Maximum : 100 marks 

Answer ALL questions in about 1,200 words each. 

All questions carry equal marks. 

 (5 × 20 = 100) 

1. (a) Bring out the bases of organisation. 

  Aø©¨¤ß Ai¨£øhPøÍ Áøµ¯Ö. 

Or 

 (b) Describe the principle of hierarchy of 

organisation. 

  Aø©¨¤ß £i{ø»U ÷Põm£õmøh ÂÁ›. 

2. (a) Discuss the features of classical theory of 

organisation. 

  ©µ£õº¢u Aø©¨¦U ÷Põm£õmiß ußø©PøÍ 

ÂÁ›. 

Or 

 (b) Bring out the modern theories of 

organisation. 

  Aø©¨¤ß CßøÓ¯ ÷Põm£õkPøÍ Áøµ¯Ö. 
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3. (a) Explain the structure and functions of a dept 

with an example. 

  xøÓ°ß Aø©¨¦ ©ØÖ® £oPøÍ Kº 
Euõµnz÷uõk ÂÍUS. 

Or 

 (b) Analyse the different levels of management 

and their functions. 

  ÷©»õsø©°ß £À÷ÁÖ ©mh £oPøÍ 
vÓÚõ´P. 

4. (a) Bring out the Herbert Simon’s theory of 

decision making. 

  ø\©Ûß •iÁõUPU ÷Põm£õmøh Áøµ¯Ö. 

Or 

 (b) Discuss the qualities and functions of 

leadership. 

  uø»ø©°ß uSvPÒ ©ØÖ® £oPøÍ ÂÁõv. 

5. (a) Explain the rationale of studing the 

organisational behavior. 

  Aø©¨¤ß |hzøuø¯¨ £iUP ÷Ási¯ 
AÁ]¯zøu ÂÍUSP. 

Or 

 (b) Examine the reasons for organisational 

conflict and how it will be solved. 

  Aø©¨¤ß \a\µÄPÒ ÷uõßÖÁuØS›¯ 
Põµn[PøÍ²®, \a\µÄPøÍz wºUS® 
ÁÈPøÍ²® B´P. 
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